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L B fe 4 3 B & {3 Sk | P T A 5 & {3
01 smy |17 ima | $ 11,981 || o1 kg i 0 I $ 18,054
02 [ axig* 5 | 3C1 WEEHRR | $ 5,500 02 |we2mip|lpsagpimaig| § 120, 750
03 | @%@ * % | 4Dl W5 &M | $ 1,500 03 |#mmip|pesrg < pimag| § 164, 250
04 | 2xr*3 | 41 g%z (=) | $ 1,000 04 |wdd |~ Bpam0)ad]| $ 8, 500
05 | 2zmer2 | 4D ¢z (=) | § L,000 J| 05 |ws%+| zZRppiae | § 7,000
06 | 2mre*z | 41 g%z (=) | $ 1,000 06 |migr| ZRpHi 22 | § 12, 500
07 Fmy |7U20pEmyr | $ 20, 399 07 |4t | pempppi e $ 4, 000
08 dmy |7 2%BpEmY | $ 7,230 || 08 |w% % x5 B $ 20, 000
09 Fmy [T 2lpEmyfr ] $ 26,714 || 09 |emipEy X AR AR $ 7, 800
10 Fmy |7 2Tp Y| 16, 160 10 |[#Fr & &4 fEA $ 5, 305
11 Fmy |7 3lpEmt ]| 28, 366 11 | 2% & ¥YRe¥$27 | § 4,000
12 sm%  [6D3-28' pEmz | 6, 365 12 | 2% % B g wA $ 6, 330
13 | =#%li a4 e r $ 1,562 13 PR

14 ¥y | 8'3pEmEr | $ 42,214 14

15 Fmy |8 TP EmYr | 12, 669 15

16 Fmy (87 10pEmE | 24, 732 16

17 % 7 % D1 & 52 % $ 17, 851 17

18 | &% s | 92 Eaxdwt | 8 2, 100 18

19 | #5a%s | 402 E5dwt | 8 3, 900 19
20 #my |8 5P FmY | $ 30,496 [| 20
21 #m% |87 16P FmE | $ 33,107 || 21
22 Fmy (81 1TpERE | 54, 655 22
23 Fmy |8UITpEmE | $ 17,705 23
24 #my |8720pFmpr | $ 304, 966 24
25 Fmy |8 2pEmYr | $ 13,830 || 25
26 Fmy |87 23pFmpr]| 7,056 || 26
27 Hmy [8r2dpEmt | 25, 421 27
28 Fmy (81 24pEm | 12, 274 28

2 ES » $ 731, 753 £ Ed 4 | $ 378, 489
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wl $ 1,894,182 | § 420,422 | $ 311,331 | § 378,489 | $ 2, 247, 446
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S R Y O SEEE 2 T R C) I SRS - S R S 5 #

sal| S 500,000 | $ 300,000 | $ - s 800, 000
prd R & L T 'S SR B - S * X 0 * 1 B &

ERAFEE | $ 1,894,182 | § 731,753 | $ 378,489 | § 2,247,446

o orraras | $ 9,840,353 | § - s - |'s 2,840,353
_ | meEnsaw | 4,734,535 | $ 731,753 | $ 378,489 | $ 5,087,799

A I 15,000 | $ - |3 - |3 15, 000

3 vir | 8 4,749,535 | $ 731,753 | $ 378,489 | $ 5,102,799

AP R PRy e MERR % .
(107/07/01~107/08/31) - “F Y (107/07/16~107/08/25) PREAREH

$ 750,577 | $ 12,730 | $ 702,271 | $ 395, 576
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